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(This paper contains 30 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which only ONE is correct).

1. Name the part of speech of the word in bold.
Her motivation helped her to reach her goal.
(A) Verb (B)  Adverb
(C) Noun (D)  Adjective
2. Arrange the words according to their place in the dictionary.
Temporary, Teethe, Tenure, Talcum
(A) Temporary, Tenure, Talcum, Teethe
(B) Talcum, Teethe, Temporary, Tenure
(C) Tenure, Temporary, Teethe, Talcum
(D) Teethe, Tenure, Talcum, Temporary
3. Choose the type of the noun in bold.

They want acceptance in this society.

(A) Proper (B) Common
(C) Abstract (D)  Collective
4. Choose the correct option.
Mr Vikram is honourable person.
(A) a (B) an
(C) the (D)  none of these

5. Choose the correct sentence.
(A)  Wild plants grew into the river bank.
(B) Wild plants grew through the river bank.
(C) Wild plants grew off the river bank.
(D) Wild plants grew along the river bank.
6. Hedreams of a
(A) equal society (B) anti-slavery society
(C) egalitarian society (D) utilitarian society
7. Name the degree of the adjective given in bold.

There were fewer students today in the class.



10.

11.

12.

13.

14.

(A) Positive (B) Comparative

(C) Superlative (D)  None of these
Identify the right person and number of the subject in bold.

Chopras are launching a new business this year.

(A) Third person, plural (B)  First person, plural
(C) Second person, singular (D)  Second person, plural
Identify the type of phrase given in bold.

She is the girl who won the trophy.

(A) Adjective phrase (B)  Distributive

(C) Adjective clause (D) Interrogative

Fill in the blank with the correct option.

The programme on television yesterday.
(A) broadcasted (B) was broadcasted
(C) was broadcast (D)  had broadcasted

Choose the correct participle form of the verb given in bold.
You will have to bear with this noise.

(A) Beard (B) Bored
(C) Bore (D) Borne
Choose the correct meaning.

By hook or by crook

(A) fishing with a crooked rod

(B) by fair means or foul

(C) hook on a crooked brunch of tree

(D) by no means

Identify the adverb in the given sentence.

He only saw her in the library; he did not speak to her.

(A) Did not (B) Her
(C) Saw (D) Only

Choose the correct transformation into simple past tense for the given sentence.

Will you cook the meal?



15.

16.

17.

18.

(A) Do you cook the meal?
(B) You have been cooking the meal.
(C)  You will cook the meal.
(D) Did you cook the meal?

Choose the antonym of the given word.

Amateur

(A) Professional (B) Immature

(C) Apathetic (D) False

Choose the correct preposition.

My birthday is 13th December.

(A) in (B) on

(C) at (D) from

The new laptop cost me an arm and a leg. The laptop is

(A) cheap (B) very expensive
(C) second hand (D) backdated

Look at the picture and tell which interjection matches it.

(A) Alas (B)  Oops
(C) Eww (D)  Yippee



19.

20.

21.

22.

23.

24.

25.

26.

Pick out the possessive pronoun from the given sentence.
These paper strings are yours.

(A) Are (B) These

(C) Yours (D) Paper strings
Choose the type of the sentence.

They are going to Bali this summer.

(A) Assertive (B) Interrogative

(C) Exclamatory (D)  Imperative

Fill in the blank with the correct option.

Zealot: A person who is extremely about something.
(A) careless (B) laid back

(C) enthusiastic (D) docile

Choose the sentence that has no error.

(A) She stays up late; because she is studying hard.
(B) I wentto the doctor: as | got allergy.

(C) I'love dogs; they are faithful.

(D) I am tired, she goes to school.

Find out the incorrect sentence.

(A) The Queen, bee lives in the hive.

(B) The sun having set, we went home.

(C) I bought some clothes and shades.

(D) Alas! | am undone.

Name the clause given in bold.

That his application will be accepted is certain.

(A) Noun (B) Adjective
(C) Adverb (D) None
Name the type of the adverb in bold.

Will they stay here this weekend?

(A) Manner (B) Place
(C) Time (D)  Frequency

Choose the correct phrasal verb that can replace the words in bold.



| am depending on you in this matter.
(A) counting in (B)  counting on
(C) counting up (D)  counting down
27. Choose the correct tense.
She will have completed the project by tomorrow.
(A) Simple future (B)  Future perfect
(C) Future continuous (D)  Future perfect continuous
Read the passage and answer the questions 28 to 30.

Egypt owes its very life to the great river Nile which flows through it from south to north.
When the snow on the mountains in the far away south melts, the river begins to carry
more and more water. This happens every year. The river swells and at last overflows
its banks. This flood water is very precious to the Egyptians for the needs of the
farmers. The flood water is carried in little canals to the field on either side of the river. It
is quite true that if there were no Nile, there would be no green fertile Egypt. The desert
would cover the entire land. Here we find fields of sugarcane, rice, wheat and barley.

We also see great stretches of land growing Egypt’s biggest crop of all—cotton.

28. [Egypt’'s biggest crop is
(A) wheat (B) barley
(C) cotton (D) rice
29. Find out the sentence which is true.
(A) Egyptis full of greenery.
(B) Egypt depends on the river Nile.



30.

(C)
(D)

Egypt can survive easily without Nile.

Nile flows east to west.

The basic theme of the passage is

(A)
(B)
(C)

)

Egypt and its people

Egypt and its agriculture

The importance of river Nile for Egypt
Egypt and its desert
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